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1. Determine the place vaiue of the digit 5 in the whole number. @ S/ G

. \\R\\\\\

656
Choose the correct answer below. 7\

——

) Hundreds Q 7?7‘4 5 o
{7)  Thousands -

) Tens

) Ones

Answer. Tens

e
2. Write the whole number in expanded form. G / ? O
6190 ;
6 ([fov0) "f'///w)’f (7)1 0CD).
6190 =I ] {Type your answer using plus signs.) e i
@0 T700F G0 = -
Answer: 6000 + 100 + 90 —_— e 3 : e
- — —— r— - S —— e ——————
3. e,
The table shows the number of calories burned during 30 Activity 110 I 13016 -
minutes of exercise and how the number of calories burned  poderate jogging 310 367
varies according to the weight of the person doing the Moderate walking 110 130
exercise. For a person weighing(1 30°pounds, how many T ; ——rn,
calories will be burned during minutes of ﬂA t:}r'ai: cyc;n_g’“ﬂ 1;2 220 -H*'{:’
oderate cycling? erobic danc
i Racquetball 216 255
Tennis 162 191 —"‘_w
| calories / 6 f
Answer. 168
-..—'—'—'_'_-_-_-_ ——
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The table shows the number of calories burned during 30 Activity 120 1b (140 Ib >
minutes of exercise and how the number of calories burned Moderate jogging 344 402
varies according to the weight of t erson doing the Moderate walking 120 140
exercise, For a person welghlngr:jtlo gﬁmds which activity Moderate cycling 151 175

burns th{second most calorle‘sz Aerobic dance 211

DS acquetball ) 235 74
Racquetball @ %M, s 1=

Tennis 166 193
Cdlor iy
Choose the correct answer below
(O A. Moderate walking
= e
©7B. Racquetball ~ ¥
(O €. Moderate cycling
(O D. Tennis
(O E. Moderate jogging
() F.  Aerobic dance
Answer: B. Racquetball
5. s —
The table shows the five longest rivers in the world. River Miles
_ Chang jiang-Yangtze (China) 3064ct— 3
Use the table to determine which river is the fifth longest in Amazon (Brazil) 4000 ¢=— 2_
o ——
the world. enisei-Angara (Russia)) 344De— &
Mississippi-Missour (U.S.) 3740 =— ¥
Nile (Egypt) 4145 =— |

Which river is the fifth longest in the world?

) Mississippi-Missouri
(O Chang jiang-Yangtze
) Amazon

O Nile

é?‘;ﬁ“n_fsém 3

Answer: Tenisei-Angara
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The table shows the top ten popular breeds of dogs. Use the Top Ten Popular Breeds of Dogs
table to answer the following question. [ Average
Dog Avera.ge Dog
Which breed has a greater weight, the Breed Maximum | Maximum
Qerma"n shepherd or th{?oxer? / Helght Weight
i — s {in pounds)
{in inches)
Labrador 25 75
The (1) —_____ has a greater average weight. retriever
Gérman Y, n A -
hepherd | 28 @- 6r€ c‘(’f/
ColdenR. 4
. 24 80 1y
retriever Ok
Beagle 15 30 [z‘ P
Bulldog 26 90 e/
Yor!(shlre 9 7
fterrier
Boxer 25 C 70 )
Poodle standard: 26| standard: 70
Rottweiler 26 none given
Dachshund 9 25
{1) ) Boxer
() German shepherd
Answer: (1) German shepherd
- e e - —_‘T_-L__ ——— _'_'_‘—_'—-—-_._____‘
7. Add. 7/
71+26 + e
—=
The sumis . @ ;
Answer: 97
—————— - P — : :
———
8. Add. /9
19 Y2
+420 - =%
Y3
_‘_._.___,_.--""H_FFF
19
+420
Answer: 438
- e 2 R e - o
ST o _\_‘_‘_\-—\_
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9. Subtract. ﬁ. ///
o1 —6L

- — Crﬁ
The difference is i

Answer: 25
=== = - e
10. Subtract.
82-75
The answer is .
Answer: 7
e
I s
1. Find the perimeter of the figure. /ﬂ - 4 + 4 ~

9 feet /{;}: i’+ C?o-f-'/(_‘?
10 feet /: /7-79/0

The perimeter is : faet. @ @ _J

Answer. 27

— —_— e iy

12, = 2w
Find the perimeter of the figure. / Zd u

Rectangle 3 fect

— W /C Z(Q)*’Z(()
S ) VANE G ads
= 25

Find the perimeter of the figure. :
PoAtL A DtEFF Cﬁ;)
[ 18 centimelers @
P = /71& S”f c/’f /y'f' ?'—f / 7 @ 4 centimeters 8 centimeters
p: o i;/ HE+IF17
- §~g-F7
/7 - q/C‘Z — 5 _f( ? 7 @ 17 centimeters
F~ S~y

Answer: 69 /0 - g ci'r c :
o - j‘/

Answer: 28

17 centimeters

i
of 42
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14. Find the difference of 56 and 22.
— 2 Z

The difference is I . o

Answer: 34 e

15, What is 584 increased by 437 f f (7/

584 increased by 43 is ! ; { (‘,z’j

e
Answer: 627 @

_.'_______ o
16. A new notebook computer with DVD player costs $1024. Derik Muller has $1233 in his checking account. How much wull
be left in his checking account after he buys the notebook computer? / ,Z 5{ }

Derik will have § “remaining in his checking account after he buys the notebook computer /C) Z (_{

Answer: 209 @

17. Find th totfa/l,land area drained by the C and D sub-basins. K} River Basin o
5 =2
E
, 000 g 300
/ 07 5 3 "30.000
— — _-q,_H_‘\ -
960 00 3 249,000
E 185.000 ) 162,000
= 50,000
n
4 0
4 A

'_ sg mi

Answer: 264,000

— — — i e —— — —
18. How many@e miles of land is dralned by the A lﬁ River Basin
sub-basin than the 8 sub-basin? 5 E
S )G o000 Wﬁ@
— 2 %0000 g
519600 i
3 246,000/
E | 85.000 |62,000
= 75,000
< E 40,000
o 0 [ L |-| f_l J—|
E [3] E

Answer; 324,000

of 42 4/11/2019, 11:06 AM
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19.
Alexander is installing a pen for his dog. The pen will have
the shape and dimensions of the figure shown to the right.

How many meters of fencing are needed =@ e the
area shown? /,: /47,_ 34"(?
P~ 76~ 113 + 139+7%

Answer; 406
-

20. Evelyn Abrams is reading a 980-page book. If she_pas just fini

read to finish the book? 7 5 ®f/
—¥353

pages

Answer: 547

e —

S

https://xlitemprod.pearsoncmg.com/api/v1/print/math

B/ y6

113 meters l , 2
{2
Sb-nzil..crs 134 gb ’-f—: 7_}_ .
&, .

73 meters

shed reading page 433, how man

must she

21. Whatis e dB rafing fopfive rock music?
S

120

Decibel Levels for Common Sounds

Rustling Conversatio

§ 103
Y 100 " 86
F 80 71
E 60
e 40 31
-’f—\\ 204 14
/O 3 0';' r_l
// Leaves Nommal @&c 1" Loud
. Music_SnoringTelevision

Ll

Answer: 103

-

"_-"-.H_._\_;?'l =
22. Howuch louder-s the sound of snoring than
normal conversation? P

-

Feo8
e il 1 o
; 0
L5
- 04

—

Answer: 53

Decibel Levels for Common Sounds

104
82
71
.r'"\l
29_",-‘
13
ic—1l
Leaves #"Norma! Live Rock Loud

Rustling Conversation | Music [Snoring elevision

of 42
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23. A permanent game board is made of granite. It is in the shape of @’a\ath side lengths of 43 ft. Find the perimeter Off

the square playing board. “_ 5 Y @ = j“*-_; <f 3
The perimeter i o4 ?‘f‘ﬁ = — <
perimeteris ~~ feet. 5 o / 27 /Q 3 }
“3 e [72
Answer. 172 (’ / -/ _7,_2’)
R T - e—"
24 The table on the right shows the number of a particular State Number of Stores
store in ten states What is the total number of stores Arizona 55
located in theq‘hre_.-f_straﬂtgmth th(ost sE?Es?r ST o6
; Florida 128 ) €~
A total ofl f stores are Ioéated in the three Georgia 83
states with the most stores. / v 5 Illinois 28
/ 9 New York 34
? Michigan 86
—+ 5 7 Minnesota (194 ™ -
— _—-_-,___\ Ohio 41
(CFoTD ==

Answer: 409

25. A particular state has 2037 miles of urban highways and 3828 miles of rural hlghways Find t@hway mileage in

the state. Z O 3 7
The total highway mileage in the state is | miles. —+ 37 6‘07

Answer: 5865 C_r_f g—g"iﬂ_\-\

—

26. Round 274 to the nearest ten.” 9\/_‘:/ Sma <
C.'L_} sy £ 1z "‘/ "‘rﬂ

274 rounded to the nearest ten is

Answer: 270
=
27. Round 185 to the neares tg_a}. / f j/ e S ey < 2_ S
185 rounded to the nearest ten is ' 71 S~—— \/ef S (v wnel Wy
Answer: 190 Q 7 0_:‘—;\\}

28. Round 1,888 to the neare@ / gii ,(f*l C'( 3
The number 1,888 rounded to the nearest hundred is I uf €y o —uA ;,,,,}ﬂ

Answer: 1,900 3 / 7 0 O _\\x

Tof 42 4/10/2019. 11:06 AM
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e 6‘ —
29. Round 195 to the nearestfen, /7 Ve Siny S
195 rounded to the nearest ten is I 4 yc 5 fo :...v( ta }/’

Answer: 200 C_-_-ZOO—-_-—)

—— - - S —_———e
P r
- n

30. Round 86,348 to the nearest ousa_r_lcl.- : : j 6 3 ?f = ;;hc/( g <
,t. ~— Aot f‘“’”"{'”}”

86,348 rounded to the nearest thousand is |

Answer: 86,000 Z 6' O’ OO0 -
31. Estimate the perimeter of the rectangle @ 60 meters —— 7 7 @ €/ro L"W( 7[/

nging the length of each side to the nearest A
ten. Rectangle 14 meters .-C-.._';}Io =W s
) . i ~dlF7a/
The estimated perimeter is | meters. / 7 (7u ) + 7 ( so/
Answer: 160 c (7o
| / A Wl
32.
Multiply.
83
x B
Answer, 498
33. Muttiply.
46
x 69

The product is ;

Answer: 3174

of 42 41172019, 11:06 AM
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34, 7 meters
Find the area and the perimeter of the rectangle shown to the right. =

W

5 meters

The area of the rectangle is I I My
The perimeter of the rectangle is (2)

A= (7)s)

(1) O meters. {2) O meters.

{0 square meters. (O cubic meters. / z Z(- —~+ Z w
O cubic meters. () square meters. ﬂ =) ( - ) 2y )
Answers 35 /: /V 72
(1) square meters. < ;_W - ’2 (/\
24 e __._.-—-")
(2) meters.
35. Estimate the product by rounding each factor to the nearest hundred. 7 O
694 x 164 6@% X [6¥ - X Z;‘;
. P
694 % 164 ! 700 x <00z O 00
Answer: 140,000 Q /C/Oio/u// ,_,?f&;'d <’
R _ — ! 1 —
36. One triple fudge brownie contains 127 calories. How many calories are in 13 triple fudge brownies? / /2,?7

_ /3

’ calories / 2—7 = ;\—/_‘

Answer: 1651 /{/ / § ¢ _H“"“"x

S . by - =
37. A plot of land measures 70 feet by 160 feet. Find its area. A - C J / GU

N 72

The area of the rectangle is §)) A' (/6:1\79) X% O
- 3o O

(1) O cubic feet, ﬁ . /if’if,) /l/lj'%::@

() square feet.
) feet.

Answers 11,200

(1) square feet,

_\-.

of 42 4/1172019, 11:06 AM
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767

38. One ounce of nuts contains 167 calories. How many calories are in 15 ounces of nuts? o
2 — : — —-’—‘——‘
calories / %7 A/ 3 7 g

[(Ar) = (6] (1) Cross ot Jff}—r
Answer: 2505 ('/I} = 0 ((_)—J_F-_"‘mﬁ 2.5 0.

—

39. A plant for a tea company has bagging machines capable of bagging 3000 bags of tea per minute. If the plant runs 24
hours a day, how many tea bags are produced in one day? S —_
/ g y 3009(2"7{ /)akrs) =

The company produces ' tea bags in one day of operation, 3 U J) 2 ,_/) ( 6051 7
—FT - ( N

o AN
o \ ——
Answer. 4,320,000 ST, &’( z C &% 320000 =
40. Find the following quotient. Z 4
-
22+2 X
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. (d, _:j f
A 22+2= (Simplify your answer.) = >
(O B. The answer is undefined, ( )
(=
Answer; A, 22 +2 =! 11 l (Simplify your answer.) — ( ¢ 2
— r-'( e O N
) : ) &
41. Find the quotient. Z Y‘
ap—— ? -
2 % /¢y
4 5
= sy ___?C 7
Select the correct choice below and fill in any answer boxes in your choice. & J
— O
O A 24 v
i, €
4 - -
(O B. The answer is undefined.
24
nswer A 2[5 |
e — = = _'_'_'_‘_‘—_-—-_—-—-_.____h

42. Find the following quotient. ZO e
e :
20+4 Yl & [2o
Select the correct choice below and, if necessary, fill in the answer box to complete your choiceCr') ___—gz//t?)_

[t

(O A 20+4= (Simplify your answer.)

() B. The answer is undefined.

Answer: A, 20+4 = 5 (Simplify your answer.)

—_—

Dof42 T ATITIO906 AM
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43. Divide the following and then check by multiplying.

296 ]
Select the correct choice below and, if necessary, fill in the answer box to complete your cholee,

/G
A. n . - .
The quotient does not have a remainder. The quotient is ’ . i/ ¢ /
Q /€

B. The quotient has a remainder not equal to 0. The quotient is R

C. The quotient is undefined.

Answer: A, The quotient does not have a remainder. The quotient is 48
qpm——— B — e =
44, Divide the following and then check by mul / z
&J159 6 v “» @_é /,__ OK — (/)
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. 3
O A. The quotient does not have a remainder. The quotient is : ( 3 C)
() B. The quotient has a remainder not equal to 0. The quotient is R <3 r;\__
7
(0 €. The quotient is undefined. _
Answer: B. The quotient has a remainder not equal to 0. The quotient is | 26 R 3 .
45. For their wedding, Ben and Jen paid $15 for each guest's dinner. The total bill was $2250-How m sts did they
have at their wedding? L LS
/s [2¢ 80
| guests ;_@)__—
75

Answer: 150 : 57

— — e~

48. A truck hauls wheat to a storage granary. It carries a total of 6,390 bushels of whea;ja Prtn 5. 'How much does the truck
haul each trip if each trip it bauls the same amount? S’_p

—(5~¢ )
79
Answer: 355 Ao

47. Find the average value of the following list of numbers. _/ O "f / ‘?/-{ / f:f Z S_—f’r ZJB’ 7‘ ?’3
10, 25, 43, 28, 14, 18 —evao L

The truck haulsl bushels each trip. , 8 J
B Y

N

e w ‘
The average value is [: / 3 5
6 LA
Answer: 23 o
27 =

e 4/11/2019. 11:06 AM
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48. Find the value of the expression. —_— Sz— Z__
52
Ses c
S —
———
WS
Answer: 25
— {
s A
49. Evaluate. /6y
y X ¥

Answer: 256 G ?‘o f{ =

50, Sim;:Iify. r_, H__":___—"""'-@ ML e om
15+9-6 (//(/:/h @ > # /> B

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. / _F S_?

O A, 15+9-6= /5_’ @ C/’ ;—\

(O B. The expression is undefined. ~f-§' 7 J
Answer:A.15+9-6=| 69 l 6

51. Simplify. | éf e Dﬁj /0 =2 e $r( -

= _ _ ) 5 e O (62
Select the correct choice below and, if necessary, fill in the answer box to c?mplete your choice.

s 2SS4 -
-+ 6 '

10+2+5+6

(A, 10+2+5+6=

) B. The expression is undefined.

Answer: A. 10+2-5+6=E

— - ﬁ_‘_‘_‘_‘_‘_\\- _— PR R
52. Simplify. 6"; /V\ }) b/) Z (/ ’_‘ 3 - 3 T
i
24+3-3 e
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. ? *3 <

-3= - _—__:;h““\
OA. 24+3-3 L9 - )
(O B. The expression is undefined. S

Answer. A, 24+3-3= 5

2of42 4112019, IT:06 AM
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= PEDES e g
—.—_._'___._'__‘//

9

47+3 ?7‘1- 3 ~

Select the correct choice below and, if necessary. fill in the answer box to complete your choice.

A, 4T+ 3 "f 3
. —/--_-—-—
) B. The expression is undefined, 5/ ()
9
Answer: A. 47 + 37 50

54. Simplify. o ﬂh&“‘w‘ ’2 ‘g Gag =
Tl v
2:4+4+2 4
Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

I+ 8c

/6=

(A, 2+4+4.2=
() B. The expression is undefined.

Answer:A.2-4+4-2=: 16

55. Sim;:;fi(.s).(p‘” M h (2‘7‘ C) 4 (7"?):

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. (f) a ( 3) T

O A (2+6)(7~4)= ip g —

) B. The expression is undefined.

Answer; A, (2+6)+{7-4)= 24 l

Jof42 4/11:2019, 11:06 AM
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A
56. Find thé area ahd penmeter of thé.l—;: shown to the right. l/‘/
_,..-""/

6 6 meters

- L
The area of the square is ! I ) | A g
The perimeter of the square is e — - .
 — A= (6)6)
(1} O meters, (2} O meters. -
) square meters. O square meters. A /?g
Answers 36 _ Z/é/ 2((/
(1) square meters. /4 = 7
" P (l—2

(2) meters. @ R
——— = o

gt S A e e G L
57. Find @"@erim}ﬁpof th@wn to the right. ",

QZ, 42 miles

Yr-= /_

The area of the square is 1 l (1)

Sl
The perimeter of the square is {2) /4 {( Q/ 2 %y
(1) O square miles. (2) O miles. A: /7Q 27::;
) miles. (O square miles. L I,
- /{ —
Answers 1764 //_ 2 (9‘ L) —+ . ((r" Z-/
(1) square miles. / » Py — ? e

::)amiles. I /W - / 67\

58. Evaluate the expression for z =3, / & M D }_} \\} 94,.1& g_ZZ =

445z P Y - g—/’;) -
O Yty

Answer; 19 / 7’
| S—

14 of 42 41172019, 11:06 AM
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59. Evaluate the expression for x=4 and z=2, 3 X {”Z o Z )< —

3xz - 2x 2(9‘)(?.) e a(cf)
wxg-2x=| | 3( X) —Z (q) -

2 —Z2 (%)<
Answer: 16 . "f = Z\:
60. Evaluate the expressionforx=2,y=3 andz=4. - 8 __X _{,rj__z_ | -
Z-x+y =
e answer is .
— ¢ —2 €3 <
Answer: § -+ 2 =
e =
P - C S§ ™
61. Evaluate the expression for x=2 and z=5. GX___ 8 _
- PErDAT 6Ce) —(s) <
Bx-z= /Z — 5 =
Answer: 7 @
62, Evaluate the following for x=5 and y = 4. _,3 e é' ¥ — / =

y® - 3x EMpA h
CErots ) i “

The answer |s . M/CF){([) 3 /5')"

Answer: 49 (f(/(.) -—,Z(S' ('/7
: ‘ o 6 Y —1 {rj < —__
63. Evaluate the following expression for x =2, y =2,andz=1, ( (/2

= E o PS>
Theansweris| | 7( 2')(7)

Answer; 28 Q'— e
o —_— — e ——— '_“M‘_ﬂ-ﬁ)

64. Evaluate the expression for x=2 and y=6.

X

Answer; 3

4/11:2019, 11:06 AM
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X772
65. Evaluate the expression for x=13,y=4 andz=3. ,/1 =z

” Wk, & &t
2 EMD yra ’
X+2y 3 @
g E— 1347 -
3

F4

Answer: 7

e

66. Evaluate the algebraic expression for the glven value. ’—'f X — (/ _ ’ ? "f’Y -

s —— n@/@)fzﬂufy:

(Simplify your answer.)

—2/6G )Ty =
Answer: 22 3 C 2/
—_— A Tl K S =
67. Decide whether the number is a solution of the equation. M- / ] =

@olutionofn-11=3? //.7)__ /=

s
O No (¥~ = 3 GW”(

) Yes 3 - 2
Answer: Yes é/ S \
68. Decide whether the number is a solution of the equation. 2 f)‘ - 7 Q /7 7 O
@olution of 29.=70n? 29 = 70 (<) A
O
O Yes 2G4 279 2
Answer: No I
P — . — " T TTTE—
69. & o
Determine wheth@ solution of the equation Is 4 a solution? 7)( -t ( - 3 =
7x+5=30. 7(%) 5 T 3o
) Yes
O No 27ty <« 3O

Answer: No 3 g _'—_l&' 3 O

BAD

16 of 42 4/11/2019, 11:06 A
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70. Dec:de whether the number is a solution of the equation.

| 19§s)olut|on of 2(n—12)=147?

) No

) Yes

Answer: Yes

e

https://xbitemprod.pearsoncmg.com/api/v | /print/math
2(n~18) =/

2 (%) ~1) = /v

2(19-1/1) /Yy

2(7) =14

71. Decide whether the number is a solution of the equation.

I@ solution of 3f=24 - f?

) Yes

[¢= 1Y
3F:'—;z\u-F-’ o ==
3(6) = 2.“(""‘(.6)
2.%¢—6

(¥
(ﬁi

| ¥

7 No

Gouc/

72. Determine which numbers in the set are solutions of the equatlon.@ /7 ﬁ% / ()
n—-4=10; {12, 14, 16} (/y) ,._$/

Select the correct choice below and, if necessary, fili in the answer box to complete your choice/(‘o % /
(W

A in the set {12, 14, 16} is a solution of the equation n-4 =10,

) B. None of the numbers in the set are solutions of the equation

So=/0

oo

Answer: A, I 14 l in the set {12, 14, 16} is a solution of the equation n—4 =10,

73. Determine which numbers in the set are solutions of the equation. @/ ?‘LX —5 = 2 )(‘I"Z/ [

) ~s <2(3)2]

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O A. in the set {5, 9, 13} is a solution of the equation 4x—5=2x+ 21, i N
) B. None of the numbers in the set are solutions of the equation. <f 7 = y 7

Cood|

4x-5=2x+21;{5,9, 13}

Answer: A, l 13 in the set {5, 9, 13} is a solution of the equation 4x - 5=2x + 21,

_—_

(Tol42 4/11/2019. 11:06 AM
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74. You are given the following egyation: 3In+2=17 v:h u_f_l‘.hgfgllowmg is a solution to the equation?

Choose the correct answer below. /} 3 3/’) ——( Z — / 7
O A. n=0 ?(5’)“‘2’:’7
(O B. n=17 -

Oc. n=5 [s—t2 (7
O D. n=3

Answer. C.n=5

e i = = - == = —'—M
75. Simplify. N e
: NemDAS  §- ¢ - e

Answer: 128 —_—

76. Simplify. & s Y 2 ¢
B+74-11 @,’/) G’(—7 ¥ [( - T G

6+7-4-11= | 3¢ —r( < 3«
Answer: 23 _._::\\
Checlc | SeaEnESe—.

77. Solve, Check your solution, —
X+9= 22

x+9=20
= 2o~
The solution is x=: )(’T%?/ (f U T $ A

— T [t F 22
Answrer 11 O SO 70 G—ﬂ(//(

78. Solve.
7x= 14 7X = /'7/

e solution is x = 1( = /V
The sol |—| ’;__ H,.j’ 7(2),._

= | ety Goud

[80f42 4/11/2019, 11:06 AM
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bX—G= = Sy

79. Solve the following equation.
eK—6 = O
6x-6=0 G)(/C/{—{: a6 A
N
-t 6 )( . . e o
Answer: 1 6\( - ....-— 6_0 /(
el F Jd=0O 9,
app——— B
80. Solve the equation. SH + }s =< s ! CA ek g R
5n+25=55 e e—1] SO LTSS e
s+ I7=25 = ¢S C6) rer= o5 Tex
n= —
—— =30 [ arer=sr
5"/7 3 J
Answer: & 5—- - r =R C &0<
81. Write a fraction to represent the shaded region of the figure.
A fraction which represents the figure i |s
Answer: 3
7
82. Represent the shaded pan of the group of circles with =
A, an improper fraction and =5
B. a mixed number. T
A. The improper fraction which represents the shaded area of the figure group is d
B. The mixed number which represents the shaded area of the figure group is i A C( 7
Answers 7 C— ( Y /
4 .—-—'-"'_-
1% 3 /m

19 0f 42 4/11/2019, 11:06 AM



M3RDGEOWHOLEFIESTA 145N 150PPMR-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v l/print/math

83. Represent the shaded part of the group of triangles with 7
A.an in_'nproper fraction and e ":'
B. a mixed number. 7

A /A

A. The improper fraction that represents the shaded area of the figure group is I [

B. The mixed number that represents the shaded area of the figure group is l f

Answers 7
4

13
4

84. Wirite a fraction to represent the shaded region of the figure.

The fraction which represents the shaded region is }

Answer: 11
12

</7

¥

B5. Write a fraction to represent the shaded part of the figure. ’

The fraction representing the shaded part is

Answer: 7

20 of42
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86.
Write a fraction to represent the shaded region of the figure.  The fraction that represents the shaded region of this figure

is | ]
Answer: 5
9

b ==

87. Represent the shaded part of the group of figures with (a) an
improper fraction and (b) a mixed number.

{a) Write the shaded area as an improper fraction.
(b} Write the shaded area as a mixed number. O/L

Answers 5

88. Represent the shaded part of the group of figures with {a) an
impraper fraction and (b) a mixed number.

a. Write the shaded area as an improper fraction.

L 1

b. Write the shaded area as a mixed number.

I

Answers 11

2l of 42 471172019, 11:06 AM
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89. Write a fraction to represent the shaded part of the syringe.
L7

. | L T ¢ 1 %
The fraction represented by the shaded parts is { ’i ? 4
¥ T T,
Answer: 3 4\. ,
= :

SN E = RN PRI T —
90. Write a fraction to represent the shaded part of the distance.

The fraction that represents the shaded part is

Answer: 1
8
91.
Each of the objects shown to the right is divided into equal  Choose the correct answer below.
sections and part of each object is shaded. The shaded part
is a fraction of the whole object. A
2
Which object represents the fraction =?
U O B.
) D.
() E. None of the above.
Answer: .
C‘ i
W
120f42
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92.
Each of the objects shown to the right is divided into equal Choose the correct answer below.

sections and pan of each object is shaded. The shaded part
is a fraction of the whole object. O A ) B.

3
Which object represents the fraction E?

O E.

None of the above.

Answer:
D.
93.
Each of the figures shown to the right is divided into equal Choose the correct answer below.
sections, and part of each figure is shaded. The shaded part
is a fraction of the whole figure. oy A.

i
i

8
Which figure represents the fraction *g?

~p
i

(O E. None of the above.

hearing impaired?
The fraction of the students that are hearing impaired is { l

Answer: 29
30

13 0f42 4/11/2019, 11:06 AN
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95. Graph the fraction on a number line.

2
> /)3 ¢ g
S| £ 5 5~
E R ™ O T B
7
Answer: . ) ) ) ) N
':I /’ T LI :I" L r Ll T é Ll
S — T — e s o
96. Graph the fraction on a number line.
3
5
\ z /3 G 5
—_—— — S’ w—
s 5 5 5
[ 4 4 L 'l i ‘|r : _I .=_ 'I' ;_;
7 )
Answer: " ) ) "’ N N . N R .
0 E g u g 1 ' ' s ! 2 2
e — i F s — — - — - “Ta

97. Graph the fraction on a number line.

&R

3
2

l
1

A

Ot
SRR

Answer:

A
(=S8
+
:.
[

 J

——— — nr.

98. Graph the fraction on a number line.

8
7 T /(L) 3 2 0w 0 13 Y
2- 3 (/ ,§ -—_ = —_—
¥% 35517 73\77 7174173
- 1 1 = 1 - + jl- s + - : + - —é%
Answer: ‘ 1 . , . o
Li L T L T ér
T _‘_-_—__-H""—_
e ———

24 of 42 4112019, 11:06 AM
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89. Write the number 44 as a product of prime factors. %’/m() Z 5 f7 H Ig l7 ,7 23 94

J I/
E— ? ¢ —
44 = ; o
Answer: 52, 41 I
————— — (%y 2 ° l ‘
100.. Find the prime factorization of the following number. /2- /AT e s 2 '3

f7 ", /3 /7 lci 25“‘,
92 /

The prime factorization of 92 is | @ QZ( 2 ‘ y

Answer: 22 23

# PO KT >

101. Find the prime factorization of the following number.

: ﬁzmm 2, 3f7 /1% 7, /7 25 e o
9
The prime factorization of 9 is ‘————[ 3 g 7 -~ 3 - } : 1
(-2 e
Answer: 32 3 OK — &
: IR ih.ob S N W S
. Fi i i i - V/M,(;Zyé&?/’/g//?/alzg/&lé
70 L )
The prime factorization of 70 is[_I {' L%“ 70 = 2 s 7 )

Answer: 5+2+7 7L——/ @ S2. 7 ‘j

103. Find the prime factorization of the number 85, Write any repeated factors using exponents.

q
Thepnmefactonzatlonts! /p/’m“' 2 5 r 7 “ [3 / _// L3 @ @

J
Answer: 5+ 17 I'I L/ 85” SF { ’?
104, —
Write the fraction in lowest terms. 2
2 8"
: Frioae s 2,3 57, 1,1%171
Answer; 1
2 ’L@ 2 _
s i e e f?:é/_____________f_ ——e - ww
L& £ -
‘ A0 .2
- |
25of — — fzo 2— -__Z
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Frome {5, 7,7/073,07,/7,23 ¢ 6

108.
Write the fraction in lowest terms. 2 i 2- 7 {/‘f
42
49
Answer; 6
7
106. Add.
1 2
55
- 1 2 o -
5 + E'I (Simplify your answer. Type an integer or a fraction.) S_

Answer: 3
5

——— e

107. Addancfs.mm?/ﬂqm,j .3 2/( /3} / 7 /4 ?J/ ‘f_/z_

1 7

12 12

[T7
7 - =
== (Type an integer or a simplified fraction.) / L

/
Answer: 2 1& 6

rti

2 g
3 s 7z -
108. Round the monetary amount to the@;m Jﬁt
$24.07 gt L % 0 Srmcy

$24.07 rounded to the nearest dollaris §

Answer: 24

e ———

| €% #2.1  Ge?  tioe
6.3+2.1 \ S ”"20 l wy

6.3+2.1=]| C,g (f > decimads
Answer: 8.4

6 of 42 4/11/2019,11:06 AM
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110. Add the foilowing.

2.1+5.16

21+5.186 =‘ ! {Type an integer or a decimal.)

Answer: 7.26

e ——— e —

111. Alandscape architect is planning a border for a
flower garden shaped like a triangle. The sides
of the garden measure 16.3 feet, 24.55 feet,
and 23.6 feet. Find the amount of border
material needed.

N

16.3 fect

The amount of border material needed is
(Type an integer or a decimal.)

Answer: 64.45

2. +5./6C*

BT

«—————— 24.55 feet ——————> .

https://xlitemprod.pearsoncmg.com/api/v1/print/math

2.]6 Linc ug
,{_,g’/c éﬂ\"ﬂ—,r-&f_

26 D

e —

=

A5

‘r
/G. 30

2. ¢
+23.60

The bar graph shows the top five chocolate-consuming

nations in the world. Use this graph to answer the following.

Which country has e greatest chocolate consumption per
person? @

Choose the correct answer below.

(E/ Country E )

Country D
(O Country C
(O Country B
(O Country A

Answer: Country E

Q,‘_Fa Vr;\

[

Pounds of Chocolate per Petson per Year

The World's Top Chocolate-
Consuming Countries

270f42
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113,
The bar graph shows the top five chocolate-consuming i )
nations in the world. Use this graph to answer the following. T“%ﬁ‘i,";ﬂ.?,f;,{;’%fﬁ%ﬂ: fe
g 30
Make a chart listing the countries and their corresponding >f 2624
chocolate consumptions in order from greatest to least. §
Q
Complete the chart below, E
Country Pounds of Chocolate per Person %
oD (26 .2 :
B 2347° g
) — g
o~ e —— [=]
= 2(e B3 “
w < 22T
oA _[T-Y°
{1y O Country A (O Country B (2) O Country B () Country E (3) O CountryC () Country A
() Country C ) Country A ) Country B
(O Country E O Country D () Country D
O Country D () CountryC () Country E
(4) O Country A (O Country B {5) O CountryE () Country B
{ Country E ) Country D
() Country C ) Country A
() Country D () Country C
Answers (1) Country D
26.24
{2) Country B
23.10
(3) Country E
21.83
(4) Country C
20.54
(5) Country A
19.40
s -

280f42 4/11/2019, 11:06 AM
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114.

115.

Use the values of the coins given below. Write the value of the group of coins

https://xlitemprod.pearsoncmg.com/api/v1/ptint/math

1-';‘ : A
shown to the right. To do so, it is usually easiest to start with the coin(s) of greatest @ ‘;’ﬂh‘
value and end with the coin{s) of least value., _ 5 .— /J § \_, \’-:

52 pS v o/

=

Bt

3,‘._: . :
fo.os 010 %0 "".- e . @
U . L2
+ O

The total value of the group is $

Answer; 1.50

Penny Nickel Dime Quarter @ z{____‘_f___ x 2 pfr
S GoS Y @Reg
b \

=

coins can have a value gf $0.17 given that you may u ‘than 10

coins. oY 2

Use the values of the ccf{giﬁ?‘m the right. Name the different ways that Penny Nickel Dime Quarter

Sol s00s s010 0 3025

Choose the correct answer below. Select ail that apply.

[7] B. 3 nickels and 6 pennies
€. dime and 7 enmf_"
[@D.(2 nickels and 7 / pennies BT

[ ] E. 1 dime, 2 nickels and 3 pennies

[4F( 1 dime, 1 nickel and 2 pennies ~ €<

Answer: A. 3 nickels and 2 pennies, C. 1 dime and 7 pennies, D. 2 nickels and 7 pennies, F.
1 dime, 1 nickel and 2 pennies

116.

Find the circumference of the circle in terms of x. Then use C - ﬂ D
the approximation 3.14 for = and approximate the
circumference. C= i) (2‘3 )

a. Find the circumference of the circle in terms of x. 3' / 7,; C = ﬁ D
é____é’_‘?——-
The exact circumference is | ft. < QO C < 3, A D

=
e — Ty 3./l
b. Find the circumference of the circle using 3.14 as an approxirfiation fgr 12_‘5 C - 3 " / (f b)

The approximate circumference is ft. (Round to the nearest hundredth as need

Answers 20x

62.80

!90f42
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117. The pictograph shows last year's fruit production by

the top fruit-producing regions. Which region
produced thuantity of fruit?

Annual Fruit Production in Top Producing Regions |

— e T
Coastal Region Cd393999 3949 i_L_lé-’

———

!
Central Region ) W C’LJ»LSIF’
Northern Region JE ] E
Mountain Region

Southern Region } = 20 million bushels

.

Lake Region

Which region produced the greatest quantity of fruit?

(O A. The mountain region
(O €. The lake region
(O E. The central region

(_) B. The southern region
() D. The northern region

Answer: F. The coastal region

u

118. The pictograph on the right shows the number of acres Annual wheat Acreage in Selected Top States
devoted to wheat production in the selected states. —— BEEEEEEK
Approximate the number of acres of wheat planted in state B L A A B A
state E. state C F ¢ % 7 1 1

state I ‘, | I T
G YT T
state F
state G
state H
|
The number of acres of wheat planted in state E is approximately
{Type an integer
Answer: 12
e ——— e _-_-_-_-_-_‘_\_

30 of42
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119. The pictograph shows last year's fruit production by Annual Fruit Production in Top Producing Regions |
the top fruit-producing regions. Which region ——
produces about 255 million bushels of fruit? Coastal Region G NEELE. g

Mountain Region | 199399
Central Region B R
Southern Region )92 i
Northern Region ) = 36 million bushels
Lake Region )
Choose the correct answer below.
(O A. The northern region () B. The central region A
() €. The lake region () D. The southern region 7 Ry ) (3 o}
(O E. The mountain region () F. The coastal region -

Answer: F. The coastal region

R —— s

120. The pictograph on the right shows the average number of
wildfires in a country between 20086 and 2012. ey (" ﬁ i*) (S i""
Approxlmage tpe number of wildfires el ﬁ f" {.’ ﬁ’ ﬁ
in 2011, T 08| Py MM By
/o0 ~
x e 09| & &y &y &
70 000 00| AN B
0
@ - 2012 |_('t,

The number of wildfires in the year 2011 is approximately l
(Type an integer or a decimal.)

Answer: 63,000

e == — ot
121. The pictograph shows the annual number of wildfires in a region Wildfires in a Region
between 2000 and 2005. What was the amount of decrease in 2000 AN NN NJ
wildfires from 2003 to 20047 2001 :b NAMNNMNNAN &
2002 AXNA %ﬁgﬁa_ﬁ__\
@Q L Ay Ky Ny
@ S RERARAL
The number of wildfires in the region decreased by about | from 2003 to 2004, 2eod 3 ‘_‘Z‘J 2 Y

b

/O — F4=& Ve /y/g}m

e

ol 41172019, 11:06 AM
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122.  The bar graph shows the number of major storms, by month, that Major Storms Making Landfall
have made landfall in a region between 1851 and 2005. |n which
month did themasT major storms make landfall in the regior

0 10 20 30 40 50 60 70 80 90

In which month did the most major storms make landfall in the region?

(O October {0 September
O August ) June
O July ) Cannot be determined

Answer: September

The circle graph is a result of surveying 700 college — - /77 /
students. They were asked where they live while attending ( u ;:rem or guardian's hom 30,- v S
college. Use this graph to find where most of these college | Bl Off-campus rental 115

students live. [ Campus housing 170
3 Other arrangemenis 13

l Own off-campus housing 72

o

123.

Choose the correct answer below.

O A. Own off-campus housing

OB us re
&€, Parent or guardian's home
e

(O D. Campus housing
(O E. Ofther arrangements

Answer: C. Parent or guardian's home

M —

124,
Find the square root.

Ja

Answer. 2 e

32of42 4/11/2019. 11:06 AM —
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Alffga*: c*

i

125.
Find the length of the third side of the right triangle. s L L L
4 -
C . A-+16=C
L5
T
The length of the third side is (ﬁ; - ¢
Answer: 5
126. Find the ratio of the corresponding
sides of the given similar triangles.
The ratio of the corresponding sides of the first triangle to the second triangle is i
(Type the ratio as a simplified fraction.)
frimes U3 0,0 003 (7 /A 23 ,0- 2
Answer; § RNV ///ﬁ/ ! 5,
2 (&
— /
127. Atriangle is formed by the building's height
and shadow. Another triangle is formed by I\ /
the flagpole’s height and shadow. Using the \\ Z &
following diagram, find the height of the “
building. X \ =
\\ A}—

.Iﬁ |s
b § \
i \

kN E
d :-ﬂ \ \ 7

The height of the buildingis| | feet. ){? = %‘-’3 - 7 27
. _xmaf&%”JFﬂ”5”%W%
2x =700
3L . /212
3 3
Y =

33 of 42
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128. Draw a tree diagram for choosing a vowel, (a, e, i, 0, u) and then a number (1 or 2). Use the diagram to find the number

of possible outcomes.

O A : O B.

[
L

-~
AN AN AN

2 -

,_.._,___m
T
\\

s
o

&0 o

e

Based on the tree, what is the number of possible outcom

|
Answers N <
e
~

10

[

oc

D o2

A

by = §.d

L]

i

]
NN N

€

te = 13
C 9 =

—

(=
b

O D.

- o o

AN AN AN AN AN

Vad B3 o tad 1 e el o e b = el [

=

34 of 42
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128.

Draw a tree diagram for spinning Spinner A 3 times. Use Choose the correct tree diagram below.
O A, 0 B.

the diagram to find the number of possible cutcomes.

Spinner A

Based on the tree, what is the number of possible
outcomes?

[ ]

Answers R p

S [ |
What is the probability that the marbl@ P i Z/ d '7// / 17/ /7/ / ? 5 ...
The probability that the marble is red is f (Type an integer or a simplified fraction.)
Answer: 1t r -{,V( -
5 s G -_
o+ Yelbw G reem

—

CA2F Y

()

i5of42 T— 4/11/2019, 11:06 AM
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131, Find the perimeter of the following figure. / gl ,{[’—f 4

""" P2 2)~+ 20%) 2
i

14t Rectangle

v,

201 fo

Perimeter = (1).

(1) O &
) sq. ft

Answers 68

(1)t

132. Find the perimeter of the following figure. | | / - ,Z (' ,+.2 L/f,] o T
" 7s)
ﬁlrallelogram I W /h 2(33.) T 24( ’ 70

— /7;_‘ 70_-'/’ (@ —5

+ S
L /"O“
Perimeter=! !(1)— ( L
{1} O sq.em
O em
Answers 120
(1) em

36 of 42 4/11/2019, 11:06 AM
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133. Find the perimeter of the following figure.

The perimeter is (1)

{1) O sq.in.
O in.
Answers 15
(1) in.

1;4. Find the pc-;;émeter of the figure shown {o the right.
Y- AB—c+b+&
//jl/fj—f2[+ 19+ 16— 7c
= T/9¥/9 ~+2¢ O 18 1) 191
/;_‘ ?—2’ + (5 /¢ A j . @

p= 7172 o - fy s
Perimeter=: (ny

(1) O ¢
O sq.ft.
Answers 103
(1) ft.
— e o205 s ¥ A
)
b o

135. Find the perimeter of thlygon shown to the right.
p: %
7 4 yd
—— = (%) = :
Perimeter = | [ ) | — o

(1) O sqyd
O yd )
Answers 240 p // _’_)f‘__g
(1) yd AT S | O
—
e — .

e
41172019, 11:06 AM
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wll %7

PE¢»/ 41

122 Yg‘m) 7

Perimeter = l (1. , ” '
(1) O sqin.
) in.

Answers 188

{1}in.
—_— n _‘_‘_-_-_‘_\-H-\-‘_‘_‘_‘—
— e . D e
137. A polygon has sides of length 4 feet, 2 feet, 1 feet, 6 feet, and 3 feet. Find its perimeter.
- —~C—+ DFE
Perimeter=|  |[(M_____ IJ A*f/? C’f
. P G+ t+(Fet3
{1) ft. g P j
O sq.ft // i 6 — ( i
pP< 7 t¢+3
Answers 16 2=
(1) ft.
138. If a playing field =¥
454

120 yd L_
Perimeter = M /r'_‘_ 2 L’(' 2 A/

03, papn+ 20
Answers 330 /: 2,5‘0 - ?0

(1) yd ( %n =

i8of 42 471172019, 11:06 AM
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139. A metal strip is being installed around a workbench that is 8 fegt long) and 4 feet wide. Find how much stripping is
needed.
p S2LF2w

The amount of metal stripping needed to be installed around the workbench is (0

(1) O sq.tt /7C ( 7))+~
O t /: 7

Answers 24

(1) ft.

— = e e T e

140. Find th@ of the top of @p}i‘npaﬂ case if thfe Ieﬁgth gfone side is 16 inches. /(/ - / ‘6
— T g [(_, Z

The perimeter is (N { 17 /0 .
- L% pegr 7t

{1) (O square inches.

) cubic inches. [ /: & (/(') #,’\//,—%

() inches.
G Y
Answers 64
{1) inches,
141. Find the distance around the given figure. o
The distance around the figure is N ) 5 .-(- / (
M O mi /:Cf.('f'/z—f
) sgqmi.
Answers 39.5 { ?’ S/—
(1) mi. /Z’” O
B S © A
[ S . O |
3946
T—— o s e ————

39 o0f 42 4/11/2019. 11:06 AM
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: hown to the right.
19m

142. Find the distance around th

The distance around the figure is (1)

(1) O m. | 5

) sgm. I!
Answers 95
{1} m. P
.--"__'_‘—'——q.-...._____,_,_——' - 5 . —— e
w-t )(?a <l
143. A drapery panel measured 6 fi/by 7 ft. Find how many square feet of material are needed fgf three panels. *

The material needed for three panels is fi. ~ L L/ ? L

A7) ),
B Answer: 126 - K& (fz___c),q%:‘

144. Convert the measurement indicated. % e A’
48 in to feet

ssin=] |t ﬂ - dioile

Cofar=

e R T S e —

145. Convert the measurement as indicmyd | r}(_) /,e.é/?(
18 yd to fest r}) - MW //

wyas[ I
Answer: 54 ‘

146. Insert <, >, or = in the space between the paired numbers to _mgie the statement true.

8 {1) 10

(1 O
O
O

AV

Answer: (1) <
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147, Use the commutative and associative properties to simplify the expression. (/ ? 7‘@/ ‘f' / ‘7‘ =

e Iy
(e m— R/ 1y =

— C a9~

148, e
Find the x- and y-coordinates of the point C. SM
; _ 4
The coordinates ofC.are . l L)
{Type an ordered pair.) c i
4 @
) x
/ Z) 6 4 2 | 2z 4 5
)
\ (\7A—f—) 2 wp N
-6-

Answer: (1,2)
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149,
Graph the equation.

y=3x+7

Use the graphing tool to graph the line.

Answer:

20 .16 -12 8 4

150. The function V(x) = x3 may be
used to find the volume of a
cube with side length x. Find
the volume of a cube whose
side is 6 centimeters.

VE) <o -_
| AP g,é |
- Ve Al

12 0f 42 4/11/2019, 11:06 AM _.



